

09/01/2023

			Vendor Ranking		Page 1 of 1
Letting:	04230901	September 01, 2023 10:30 AM	Call Order: 006	Contract:	E4W91-R0
District:	District 4		Counties: BROWARD	Fed Aid No	: N/A
Contract Time:	365 CALEN	DAR DAYS		Project(s):	43468237201 (*)
Contract Desc:	BROWARD	COUNTY PAVEMENT STRIP	ING		

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Winning bid	\$526,425.80	100.00%
2	OGLESBY CONSTRUCTION, INC.	Responsive	Non-Winning Bid	\$586,900.00	111.49%
3	MCSHEA CONTRACTING, LLC	Responsive	Non-Winning Bid	\$636,635.00	120.94%
4	AKCA, LLC	Responsive	Non-Winning Bid	\$705,500.00	134.02%
5	TRP CONSTRUCTION GROUP, LLC	Responsive	Non-Winning Bid	\$840,135.00	159.59%
6	ACME BARRICADES LC	Responsive	Non-Winning Bid	\$958,400.00	182.06%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED:	BEGIN DATE:	10/03/23	BEGIN TIME:	10:30 AM
	END DATE:	10/06/23	END TIME:	10:30 AM

NOTE: The award amount and contract performance bond shall be based on the Department's advertised estimate amount of \$ 500,000.00 and not the contractor's bid total.



09/01/2023

	Tabulation of Bids							
Letting:	04230901	September 01, 2023	Call Order:	006	Contract:	E4W91-R0		
District:	District 4		Counties:	BROWARD	Fed Aid No	: N/A		
Contract Time:	365 CALENI	DAR DAYS			Project(s):	43468237201 (*)		

Contract Descr: BROWARD COUNTY PAVEMENT STRIPING

The work under this Contract consists of the refurbishment of existing thermoplastic pavement markings, as well as the removal and installation of standard thermoplastic pavement markings along the State Highway System in Broward County.

• PERFORMANCE BOND: A Contract / Performance bond is required for this project.

• ADVERTISED ESTIMATE: The award amount and contract performance bond shall be based on the Departments advertised estimate amount of \$500,000.00 and not the contractors bid total

• REQUIRED SUBMITTAL WITH BID: Pavement Markings Experience Form 850-070-06 must be submitted with the bid.

PLEASE READ STANDARD SPECIFICATIONS FOR ROAD AND BRIDGE CONSTRUCTION FY 2023-24 (SECTION 7-13) FOR INSURANCE: LIMITS

Line No / Item ID Alternate Quantity Item Description Units	(1) ROGAR MANAGEMENT & CONSULTING OF FLORIDA	(2) OGLESBY CONSTRUCTION, INC.	(3) MCSHEA CONTRACTING, LLC
() indicates item is bid as Lump Sum	Unit Price LLC Ext Amount	Unit Price Ext Amount	Unit Price Ext Amount
SECTION: 0001 (PAVEMENT S	TRIPING (LARGE MACHINE) (LM		
0005 0711 11102 3.000 THERMOPLASTIC, STANDARD, WHITE, GM SOLID, 8" FOR INTERCHANGE AND URBAN ISLAND	5,000.00000 15,000.00	10,000.00000 30,000.00	5,500.00000 16,500.00
0010 0711 11123 6,000.000 THERMOPLASTIC, STANDARD, WHITE, LF SOLID, 12" FOR CROSSWALK AND ROUNDABOUT	4.00000 24,000.00	3.00000 18,000.00	3.00000 18,000.00
0015 0711 11124 2,000.000 THERMOPLASTIC, STANDARD, WHITE, LF SOLID, 18" FOR DIAGONALS AND CHEVRONS	4.00000 8,000.00	3.90000 7,800.00	4.50000 9,000.00



				Tabulation of B	ids			Page 2 of 10
Letting:	04230901	September 01,	2023	Call Order: 006		Contract:	E4W91-R0	
Line No / Item Item Descripti		e Quantity Units		MANAGEMENT & NG OF FLORIDA		LESBY CTION, INC.	• •	CONTRACTING, LC
() indicates item	is bid as Lump Sum		Unit Price	LLC Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIC	DN: 0001	(PAVEMENT S	TRIPING (LAR	GE MACHINE) (LM				
0020 0711 11 ² THERMOPLASTIC SOLID, 24" FOR S CROSSWALK	C, STANDARD, WI	6,000.000 HITE, LF	5.0000	00 30,000.00	7.00000	42,000.00	6.00000	36,000.00
0025 0711 11 ² THERMOPLASTIC MESSAGE OR SY	C, STANDARD, WI	50.000 HITE, EA	135.0000	00 6,750.00	80.00000	4,000.00	135.00000	6,750.00
0030 0711 11 ⁷ THERMOPLASTIC ARROW	170 C, STANDARD, Wł	500.000 HITE, EA	88.000	00 44,000.00	100.00000	50,000.00	95.00000	47,500.00
0035 0711 12' THERMOPLASTIC WHITE, SOLID, 6'	C, REFURBISHME	50.000 NT, GM	3,148.3400	00 157,417.00	2,800.00000	140,000.00	3,400.00000	170,000.00
	122 C, REFURBISHME ' FOR MAINTENAI	,	1.0000	00 5,000.00	1.70000	8,500.00	1.00000	5,000.00
WHITE, SOLID, 12	23 C, REFURBISHME 2" FOR CROSS W. IT- MAINTENANCI	ALK	4.000(00 8,000.00	3.00000	6,000.00	2.75000	5,500.00
WHITE, SOLID, 18	124 C, REFURBISHME B" FOR DIAGONAI TENANCE USE O	LOR	4.0000	00 2,000.00	3.90000	1,950.00	4.25000	2,125.00



09/01/2023

					Tabulatio	n of Bi	ds			Page 3 of 10
Letting:	042	230901 Se	ptember 01,	2023	Call Order:	006		Contract:	E4W91-R0	
Line No / Ite Item Descri		Alternate	Quantity Units		MANAGEME		(2) OGL CONSTRUC		· · ·	CONTRACTING, LC
() indicates it	em is bid	as Lump Sum		Unit Price	LLC Ext Am	ount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION:	0001 (F	AVEMENT S	TRIPING (LAF	RGE MACHINI	E) (LM				
	TIC, RE , 24" FO	FURBISHMENT, R STOP LINE O NANCE USE		4.500	000 2	2,250.00	7.00000	3,500.00	5.75000	2,875.00
0060 0711 ⁻ THERMOPLAS WHITE, SKIP, 6	TIC, RE	FURBISHMENT	50.000 GM	1,500.000	000 75	5,000.00	1,500.00000	75,000.00	1,750.00000	87,500.00
WHITE, 2-4 DO	TIC, RE	FURBISHMENT, GUIDELINE / 6-' MAINTENANCE		1,500.000	000 14	,250.00	1,100.00000	10,450.00	2,250.00000	21,375.00
0070 0711 ⁻ THERMOPLAS MESSAGE		FURBISH, WHIT	12.000 E, EA	120.000	000 1	,440.00	100.00000	1,200.00	125.00000	1,500.00
0075 0711 ⁻ THERMOPLAS ARROWS		FURBISH, WHIT	30.000 E, EA	60.000	000 1	,800.00	100.00000	3,000.00	85.00000	2,550.00
0080 0711 ⁻ THERMOPLAS YELLOW, SOLI	TIC, RE	FURBISHMENT	20.000 GM	3,148.340	000 62	2,966.80	2,800.00000	56,000.00	3,400.00000	68,000.00
0085 0711 [·] THERMOPLAS YELLOW, SOLI USE ONLY	TIC, RE	FURBISHMENT, AINTENANCE	2,000.000 LF	0.750)00 1	,500.00	1.70000	3,400.00	1.00000	2,000.00



			Та	bulation of Bio	ds			Page 4 of 10
Letting	g: 04230901 Sep	tember 01,	2023 Call	Order: 006		Contract:	E4W91-R0	
Line No / Item ID Alternate Item Description		Quantity Units	(1) ROGAR MAN CONSULTING C	F FLORIDA	(2) OGLESBY CONSTRUCTION, INC.		(3) MCSHEA CONTRACTING, LLC	
() ind	licates item is bid as Lump Sum		LLC Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001 (PA	VEMENT S	TRIPING (LARGE N	IACHINE) (LM				
YELLOV	0711 12224 OPLASTIC, REFURBISHMENT, V, SOLID, 18" FOR DIAGONAL EVRON, MAINTENANCE USE	200.000 LF	4.25000	850.00	4.00000	800.00	4.25000	850.00
	0711 14123 OPLASTIC, PREFORMED, SOLID, 12" FOR CROSSWALK	100.000 LF	11.00000	1,100.00	15.00000	1,500.00	8.00000	800.00
	0711 14125 OPLASTIC, PREFORMED, SOLID, 24" FOR CROSSWALK	235.000 LF	14.00000	3,290.00	20.00000	4,700.00	16.00000	3,760.00
	0711 14160 OPLASTIC, PREFORMED, MESSAGE	136.000 EA	188.00000	25,568.00	200.00000	27,200.00	200.00000	27,200.00
	0711 14170 OPLASTIC, PREFORMED, ARROW	136.000 EA	144.00000	19,584.00	100.00000	13,600.00	100.00000	13,600.00
WHITE \	0711 14560 OPLASTIC, PREFORMED, WITH BLACK CONTRAST ON ETE PAVEMENT, MESSAGE OR L	1.000 EA	250.00000	250.00	1,000.00000	1,000.00	750.00000	750.00
	0711 16101 OPLASTIC, STANDARD-OTHER CES, WHITE, SOLID, 6"	1.000 GM	4,000.00000	4,000.00	4,500.00000	4,500.00	4,000.00000	4,000.00
	0711 16102 OPLASTIC, STANDARD-OTHER CES, WHITE, SOLID, 8"	1.000 GM	4,000.00000	4,000.00	8,900.00000	8,900.00	5,500.00000	5,500.00



			1	abulation of Bi	ds			Page 5 of 10
Letting:	04230901	September 01,	2023 Ca	ll Order: 006		Contract:	E4W91-R0	
Line No / Item Item Descripti		te Quantity Units	(1) ROGAR MA CONSULTING	OF FLORIDA	(2) OGI CONSTRUC		• •	CONTRACTING, LC
() indicates item	is bid as Lump Sum	1	Unit Price	.C Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	(PAVEMENT S	TRIPING (LARGE	MACHINE) (LM				
0130 0711 161 THERMOPLASTIC SURFACES, WHI OR 3-9 LANE DRO	;, STANDARD-07 E, SKIP, 6",10-30		4,000.00000	4,000.00	1,400.00000	1,400.00	2,000.00000	2,000.00
0135 0711 162 THERMOPLASTIC SURFACES, YELL	, STANDARD-OT	1.000 THER GM	4,000.00000	4,000.00	4,500 <u>.</u> 00000	4,500 <u>.</u> 00	4,000.00000	4,000.00
0140 0711 17 THERMOPLASTIC THERMOPLASTIC MARKINGS- SURI	; REMOVE EXIS PAVEMENT		0.01000	400.00	1.40000	56,000.00	1.75000	70,000.00
0145 0713107 PREFORMED/PER REMOVE	RMANENT TAPE	1,000.000 , SF	0.01000	10.00	2.00000	2,000.00	2.00000	2,000.00
	ENT STRIPING 3 MACHINE) (LM)	Section Totals:	1	\$526,425.80		\$586,900.00		\$636,635.00

Contract Grand Totals:	\$526,425.80	\$586,900.00	636,635.00
------------------------	--------------	--------------	------------



			Т	abulation of Bio	ds			Page 6 of 10
Letting	g: 04230901 Sep	otember 01, 2	2023 Cal	Order: 006		Contract:	E4W91-R0	
	No / Item ID Alternate Description	Quantity Units	(4) AKCA	A, LLC	(5) TRP CONS GROUF		(6) ACME BA	RRICADES LC
() inc	licates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001 (PA	VEMENT ST	RIPING (LARGE	MACHINE) (LM				
SOLID,	0711 11102 OPLASTIC, STANDARD, WHITE 8" FOR INTERCHANGE AND ISLAND	3.000 , GM	7,500.00000	22,500.00	10,000.00000	30,000.00	8,500.00000	25,500.00
SOLID,	0711 11123 OPLASTIC, STANDARD, WHITE 12" FOR CROSSWALK AND ABOUT	6,000.000 , LF	6.00000	36,000.00	4.50000	27,000.00	6.00000	36,000.00
	0711 11124 OPLASTIC, STANDARD, WHITE 18" FOR DIAGONALS AND ONS	2,000.000 , LF	7.00000	14,000.00	7.00000	14,000.00	8.00000	16,000.00
	0711 11125 OPLASTIC, STANDARD, WHITE 24" FOR STOP LINE AND WALK	6,000.000 , LF	8.00000	48,000.00	9.00000	54,000.00	12.00000	72,000.00
	0711 11160 OPLASTIC, STANDARD, WHITE GE OR SYMBOL	50.000 , EA	200.00000	10,000.00	180.00000	9,000.00	225.00000	11,250.00
0030 THERM ARROW	0711 11170 OPLASTIC, STANDARD, WHITE /	500.000 , EA	100.00000	50,000.00	120.00000	60,000.00	125.00000	62,500.00
	0711 12101 OPLASTIC, REFURBISHMENT, SOLID, 6"	50.000 GM	3,800.00000	190,000.00	3,800.00000	190,000.00	4,800.00000	240,000.00
	0711 12122 OPLASTIC, REFURBISHMENT, SOLID, 8" FOR MAINTENANCE	5,000.000 LF	1.50000	7,500.00	2.00000	10,000.00	1 <u>.</u> 50000	7,500.00



09/01/2023

				Т	abulation of Bi	ds			Page 7 of 10
Lettin	g: 04	230901	September 01,	2023 Ca	II Order: 006		Contract:	E4W91 - R0	
Line No / Item ID Alternate Item Description		e Quantity Units	(4) AKCA, LLC			(5) TRP CONSTRUCTION GROUP, LLC		(6) ACME BARRICADES LC	
() in	dicates item is bid	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(PAVEMENT ST	TRIPING (LARGE	MACHINE) (LM				
WHITE	0711 12123 10PLASTIC, RE , SOLID, 12" FO UNDABOUT- M	R CROSS W	ALK	6.00000	12,000.00	3.50000	7,000.00	5.00000	10,000.00
WHITE	0711 12124 IOPLASTIC, RE , SOLID, 18" FO RON, MAINTEN	R DIAGONAL	OR	6.00000	3,000.00	5.00000	2,500.00	7.00000	3,500.00
WHITE	0711 12125 IOPLASTIC, RE , SOLID, 24" FO SWALK, MAINTE	R STOP LINE	E OR	7.00000	3,500.00	8.00000	4,000.00	9.00000	4,500.00
	0711 12131 10PLASTIC, RE , SKIP, 6"	FURBISHME	50.000 NT, GM	1,500.00000	75,000.00	2,000.00000	100,000.00	2,000.00000	100,000.00
WHITE	0711 12141 IOPLASTIC, RE , 2-4 DOTTED XTENSION, 6", I NLY	GUIDELINE /	6-10	2,000.00000	19,000.00	2,900.00000	27,550.00	2,200.00000	20,900.00
0070 THERM MESSA	0711 12160 10PLASTIC, RE AGE	FURBISH, W	12.000 HITE, EA	175.00000	2,100.00	130.00000	1,560.00	200.00000	2,400.00
0075 THERM ARROV	0711 12170 IOPLASTIC, RE VS	FURBISH, W	30.000 HITE, EA	90.00000	2,700.00	70.00000	2,100.00	90.00000	2,700.00



				1	abulation of Bi	ds			Page 8 of 10
Lettin	g:	04230901	September 01,	2023 C a	Il Order: 006		Contract:	E4W91-R0	
Line No / Item I Item Descriptio			nate Quantity Units	(4) AKCA, LLC		(5) TRP CONSTRUCTION GROUP, LLC		(6) ACME BARRICADES LC	
() in	dicates item i	s bid as Lump Sເ	ım	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTIO	N: 0001	(PAVEMENT S	TRIPING (LARGE	MACHINE) (LM				
	0711 1220 IOPLASTIC W, SOLID, 6	REFURBISH	20.000 MENT, GM	3,800.00000	76,000.00	3,800.00000	76,000.00	4,800.00000	96,000.00
	W, SOL I D, 6	21 , REFURBISHI " MAINTENAI	,	1.00000	2,000.00	3.00000	6,000.00	1.00000	2,000.00
YELLO	W, SOL I D, 1	24 , REFURBISHI .8" FOR DIAG(.INTENANCE (ONAL	6.00000	1,200.00	5.00000	1,000.00	10.00000	2,000.00
		23 , PREFORMEE " FOR CROSS		10.00000	1,000.00	30.00000	3,000.00	20.00000	2,000.00
		25 , PREFORMEE " FOR CROSS		20.00000	4,700.00	35,00000	8,225.00	30.00000	7,050.00
	0711 1416 IOPLASTIC , MESSAGE	, PREFORMED	136.000 D, EA	200.00000	27,200.00	250.00000	34,000.00	450.00000	61,200.00
	0711 1417 IOPLASTIC , ARROW	70 , PREFORMEE	136.000 D, EA	100.00000	13,600.00	200.00000	27,200.00	450.00000	61,200.00
WHITE	WITH BLAC RETE PAVE	60 , PREFORMEL CK CONTRAST MENT, MESSA	Γ ON	1,000.00000	1,000.00	3,000.00000	3,000.00	1,200.00000	1,200.00



09/01/2023

			Та	abulation of Bio	ds			Page 9 of 10
Letting: 0	4230901 Se	eptember 01,	2023 Cal	Order: 006		Contract:	E4W91-R0	
Line No / Item ID Item Description	Alternate	e Quantity Units	(4) AKCA, LLC		(5) TRP CONSTRUCTION GROUP, LLC		(6) ACME BARRICADES LC	
() indicates item is b	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001 (F	PAVEMENT S	TRIPING (LARGE I	MACHINE) (LM				
0120 0711 16101 THERMOPLASTIC, S SURFACES, WHITE,		1.000 R GM	5,500.00000	5,500.00	5,000.00000	5,000.00	8,000.00000	8,000.00
0125 0711 16102 THERMOPLASTIC, S SURFACES, WHITE,		1.000 R GM	6,500.00000	6,500.00	7,000.00000	7,000.00	9,000.00000	9,000.00
0130 0711 16131 THERMOPLASTIC, S SURFACES, WHITE, OR 3-9 LANE DROP			2,000.00000	2,000.00	2,000.00000	2,000.00	3,000.00000	3,000.00
0135 0711 16201 THERMOPLASTIC, S SURFACES, YELLOV		1.000 R GM	5,500.00000	5,500.00	5,000.00000	5,000.00	8,000.00000	8,000.00
0140 0711 17 1 THERMOPLASTIC, R THERMOPLASTIC P/ MARKINGS- SURFAC	AVEMENT	40,000.000 G SF	1.50000	60,000.00	3,00000	120,000.00	2,00000	80,000 . 00
0145 0713107 PREFORMED/PERM REMOVE	ANENT TAPE,	1,000.000 SF	4.00000	4,000.00	4.00000	4,000.00	3.00000	3,000.00
0001 PAVEMEN (LARGE MA	T STRIPING Sec CHINE) (LM)	tion Totals:	1	\$705,500.00		\$840,135.00		\$958,400.00

\$705,500.00

Contract Grand Totals:

\$840,135.00

958,400.00

FDOT		Florida Department of Transportation							
		Tabulation of Bids							
Letting:	04230901	September 01, 2023	Call Order: 006	Contract:	E4W91-R0				
	NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.								